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Paper 1
gyuienT 1
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
e : (1) mwaqﬁ@ama(smagﬁazwﬁﬁﬁwmwm(z)m

3Ra.
(2) PR T (50) weAsl IW o .

1. Which of the following is not an | 1. TIEUH HIURI 17758 HATT STE
example of non-verbal e ?
communication ? —

A EECICE]
(A) Letter Writing
' (B) Je-aeiiel gEavd
(B) Facial Expression
_ (C) sherogrn 3T
(C) Pace of Speaking
(D) ¥ fehen wridar

(D) Silence
9. On which criteria communication | 2. Fvean fawsrem e WIS

can be classified into ‘Intra- ‘E-TaR’ T SRy HEg, TEHAIA

ersonal’, ‘Inter-personal’, ‘group’ .
P P group Hl SHEIIA Y a0 FEal A ?
and ‘mass’ communication ?

(A) HIOE "W

(A) Mediun} of communication

(B) Number of participants in HUAN SRErT S §em

communication ) .
(C) VTR WY a1 AR

(C) Message of communication

(D) Purpose of communication (D) R &

3 [P.T.O.



Which of the following is the most
correct description of ‘breaking
news’ in the context of news-

channel ?

(A) A news mainly about a

shocking or violent event

(B) A news mainly based on
pictures taken by hidden

camera

(C) A short and developing news
about an important event just

discovered

(D) A precise news focusing on
investigation of political

corruption

What is the significance of the

1980s in the context of television in

India ?

(A) Television transmission began
in India

(B) DTH services for television

began in India

(C) Rapid expansion of

Doordarshan’s network

(D) Privately owned TV channels

were allowed in India

3.
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Jualfe-aren deuid ‘FE g A HA
WAy Fala A Juig wiv 2
(A) eI RS a1 feus weaE

Gafud smadi
(B) i g S feaerean vl
Hafba Sl

(C)) T wesien wewreA e
Teifera S anfor formerier s

(D) T YRR WY 9 Aehyia
MY 3T SR

YA qRa=aroi=a Hedid 1980
I el Y AR ?

(A) RaE T U= Yo
(B) wrdTd gafasarml §aquHd
A TE. G gean




The round table sitting arrangement
in a typical conference room

facilitates :

(A) one-directional communication

(B) more interactive communi-

cation amongst participants

(C) top-down communication

(D) bottoms-up communication

What communicative dimensions are
added when PowerPoint presen-

tation is used in teaching ?

(A) Only visual

(B) Only Audio

(C) Audio as well as visual

(D) Audio, Visual and Interactive

5.
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FETTIR YRES HETEY Tk S9uara)

MAe a5k & HIIRA THT=A]

TR WA /a2

(A) & T THERE T

{B) wewrlt swiwdia stafshare®
FAA

(C) et HTH

(D) SHEH T

fersfaar dfeRalde SRIFOT AR

S T HIUQ AW TAH

ez ?

(A) e §¥9

(B) W oA

(C) #m=q oMfo g4

(D) =1, T3 enfn sTifsrancTs

(P.T.O.



Consider the following code words

for the fruits

Banana — 010, Apple — 111,
Mango — 101. By the nearest

decoding procedure the codeword

000 will be decoded to :
(A) Banana

(B) Apple

(C) Mango

(D) Either Apple or Mango

Which of the following is true for the

real numbers  and 2 ?

(A) = and 2 both are rational

numbers

(B) T + /2 is a rational number

T
(C) J2n and 7—'2‘ are not real

numbers

(D) " is irrational for every natural

number n

7.
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AL L T
332 o 010, THEE — 111, 3T -
101 W IR TG Saedl W Al

fra@faew FrAAER 000 T Wi

(C) ¥t
(D) §wEg fhar T
Tt B fuE a9 J2 A I

AT dewi WA AR ?

(A) nd 2 AR TR HE e
B) n + J2 & ufim ¥ Iw
(C) ﬁna%mmﬁaﬁww

©) v & T Sfim GEn AW

srofay wE oY




10.

Suppose xy = 10, x5 = x; + T

1
Xppy = Xp + F Then which of the

following is not true ?

(A) No two terms of the sequence
are equal

@ At least one term of the
sequence is larger than 10.1112

(C) The sequence is strictly

increasing
(D) Every term of the sequence is

less than 11.11.
Assume that human beings will
survive on the earth for infinity.
Then :
(A) There is a person whose family
line will never terminate
(B) Everyones family line may gét
terminated
(C) At least 50% of the present
person’s family line will not be
terminated
(D) At most 50% of the present
person’s family line will not be

~ terminated

10.
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1
Wx1=10,x2=x1+ Py

1
Xpo1 =X + W—,m@aﬂaﬁﬁw

fgum /g R ?

(A) I MRS ST S &
A TR

® o Fegmmdtd twad e
10.1112 Ty A o2

(C) & TSI HHY: Fed STU 378

(D) 91 TSI Yo% & 11.11
YT e STe

T YeeTreR 3d FleIydd AHase foae
Tleears
A
(B) WA s¥Me@ WEM 1% I
(C) ®Hia FH 50% HTEl FTINTD
FEST T
(D) dtd T 50% i<l F9TEes
e TEa

[P.T.O.
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11.

12.

Three boys {by, b, b3} and three

girls {g4, g5, &3} are registered in a
marriage bureau. Suppose each boy
wishes to marry a girl of his choice.
In which of the following situations
will each boy get married to a girl

of his choice.

(A) b, likes g4, by likes {g,, &o} and
b3 likes g2

(B) b likes g1, &3k by likes g4 and
by likes g

(C) bl IikeS g2, b2 likeS [g].’ gz} and
b3 likes g3

(D) b, likes 81> bg likes g9, g3} and

bs likes g1

Suppose that in an organization
every teacher is a scientist; every
scientist who is not a teacher is an

engineer. -‘Therefore ;
(A) every engineer is a scientist
(B) every teacher is an engineer

(C) every scientist is either a

teacher or an engineer

(D) no teacher is an engineer

11,

12.
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T faame-icoit dedy {bl! 52, 53} a
T G f 9 {gy, go, g5) T A T

(B) by =t Wl (g, gy} T, b, g4
W F by W g, A AR

@blﬁmgzw,bzaﬂgl,@}
T by A gy A AR

D) by =t T g; W, by =M gy, g4}
M F by gy W AR

U T YT ek @ Smten e,

W I, S e e, @ st

e T ,

(A) y3% afEa 7 dfe om

(B) ¥ T & aifgar ame

C) v b= & e amz fa
sfigar o1

(D) wdd e @ s T

14,



13.

14.

L, M, N, P and Q appeared for a test.
M' scored better than P, but scored
less than L and N. L scored better
than N. P scored better than Q.
Which of the following is the correct
descending order based on their

performance ?

(A) LNMPQ

(B) NLMPQ

(C) QPMNL

(D) PQMLN

Based on the following statements,

which of the conclusion/s is/are

correct ?

Statement I : Some leaders are

intelligent.

Statement II : All the managers

are intelligent.

Conclusion 1 :All the leaders are

intelligent.

AUG - 001151—C

13. L, M, N, P 3ufor Q W& 9=} viden

14.

TG4, M @ P e sifus 1o o,
wg L enfr N ¥an &t o foeee. !
L o1 N 9&m sfas 7o fag@. P e
Q M& TR o frem. e o
Torem e, @referieh! IR 99 St
oI A SrEfed ?

& LNMPQ

(B) NLMPQ

(C) QPMNL

(D) PQMLN

9 favrm=ar snun, wdiadst
Fo(a) frewd wew IdE @ ?

faa I : s@ 7 gigam smea.

faam 11 : vd sggvuTw gfgam
CHEGS

frewrd 1 : & T gfgam smea.
frewd 2 ;. w1t sHERUE gfgam

Conclusion 2 :Some managers .
are intelligent.
(A) TaT 1
(A) Only 1 )
(B) Only 2 @ w= 2
(C) Both 1 and 2 (C) 192 =
(D) Both 1 and 2 do not follow (D) 19 2 =&
N [P.T.O.
Ty Lo
N

\/Q\z'a\
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15. Based on the following statements. | 15. @A faumn s et ARG
Which of the conclusion/s will el s adm 2
follow ?
Statement I : All tigers are foam 1 : @ A RS
brave. fqum I : %@ YR wvit g e,
Statement II : Some brave
animals are kind. od 1 T am g STed.
Conclusion 1 :Some tigers are Ffrepe 2 ¢ 2@ a9 R, A BI
kind. I
Conclusion 2 :Tom is a tiger, so
he is brave. (A) w5 1
(A) Only 1 (B) F 2
(B) Only 2 N
(C) Both 1 and 2 1) 19 2 9
(D) Neither 1 nor 2 D) 132 T8
16. Mohini, Nanda, Seema, Anisha and
Sangeeta are participating in a race. 16. , I, W i o
At the end of the race, Seema was o=t T T A9 A, w9uf
ahead of Nanda but behind Anisha. FavAre dei W feen 1wy
Mohini was behind of all, Sangeeta yf=n T . SR waten AT B
was ahead of Seema. Who must be riier e g2 2. Tt e gie
the first three in order of finishing f=t = st ?
the race ? .
(A) Hifet, s, i
(A) Mohini, Sangeeta, Seema
(B) Sangeeta, Seema, Anisha (B) it e, SiFren
(C) Anisha, Sangeeta, Seema Q(_}) ATTEN, Tfan,
(D) Seema, Sangeeta, Anisha D) d, i
AT

X

AN
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17. Which of the alternatives will | 17- TTCIeIIh! v waty feredt arer S

4 &7 & & I

complete the following letter series ?

oo W ?

HIG, LMK, ............ TUS, XYW. HIG, LMK, ............ », TUS, XYW.
@) PQO @ Pqo
(C) NOP (C) NOP
(D) MNL (D) MNL
18. Which of the following represents | 18. WIieIyeh! Hior v ‘e, 3, 3@’
.. A
the correct relationship among e A '
Fruits, Mangoes, Alphanso ?
w (9
» (OO0
» (OO
(©) @ O
©) @ O
é/%ks}:\/)' - [POT-O.
QDQF) \DQQ\ > '
La N PN
OV
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Use the following table to W, 19 q 22 W wrefter T
answer question Nos. 19 to 22 ; IUGT ST

The followin table shows the )
~ & TS ToRITTeS T Hemaey MBA =5

TN Tamed Taeren s I giiga
appeared for MBA entrance
examination and candidates who st wmen wteneAte wfed feet

distribution of candidates who

passed the examination in seven g ?
different institutes.
Titamentsy faaor
Distribution of Candidates
ween TEAT TS | i} TS
Institutes Appeared Passed
A 22% 18%
A 22% 18%
B 15% 17% B 15% 17%
C 10% 13% C 10% 13%
D 17% 16% D 17% 16%
E 8% 9% E 8% 9%
F 129 15%
F 129 15%
G 16% 12%
Total No.of . G 16% 12%

12
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AaArdr

MBA =A1

3R ERER

e feett

i st

18%

17%

13%

16%

9%

15%

12%

5700

19. What is the ratio of passed

candidates to the candidates who
appeared for the examination for

institute A ?

AUG - 00115/1—C

19. A 71 SeEWyA TddT 3Wv @

Wﬁmﬁ%mmﬁqﬁﬁmm
qianediyit e UK ®E Mg ?

A 9:11
(A) 9:11
(B) 14 : 17 (B) 14 : 17
(C) 6 :11 @ 6:11
D) 9: 17 (D} 9 : 17

20. What is the percentage of passed | 20. B Sfor C =1 HeUmTeA Thiaaer qieen
candidates among the candidates Foere ity I St seen
who appeared in institutes B and C et TRa wE e 2
together ?

(A) 68%
(A) 68% 7_
(B) 80% B 80%
(C) 74% (C) 74%
(D) 65% (D) 65%

21. Which institute has the highest | 21. TN sEeeal wianegfaed Sl e
percentage of candidates passed to Tienefft TFhail wIveq W
the candidates appeared ? aifaw s ?

(A)_ B (A) B
(B) C
®c
.T'O'
o ~ 13 \&o [P.
AR o
‘ \
\L‘\a %J C %’&;\'
I "F%f \0
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22. The number of candidates passed

from institutes A and D together
exceeds the number of candidates
appeared from institutes C and E
together by :

(A) 228
(B) 279
(C) 399
(D) 407

Use the following table to

- answer question No. 23 and 24;

Proportion of population of seven

villages in 1997 .

Village | % Population % Population
below Poverty
Line

M 16 38

N 15 52

O 11 42

P 16 51

Q 11 49

R 21 46

S 10 58

AUG - 00115/I—C

22 Awﬁrnmﬁ@quﬁms—rﬁﬁm

qﬁmﬁ?ﬁﬁwﬁrcaﬂﬁmmm@
RIS e whaneifa R s
R ?
(A) 228
(B) 279
@© 399
(D) 407
T ®. 23 N 24 wrR wreRe
THRATA IGEAT ATy
I M 1997 Wi degeis
T
T | FIREET %) gy T
AHHET %
M 16 . 38
N 15 52
@) 11 42
P 16 - 51
Q 11 49
R 21 46
S 10 58

14
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23.

24.

25.

Find the population of village Q if

the population of village M below

poverty line in 1997 is 12160.

(A) 18500

(B) 20500

(C) 22000

(D) 26000

If the population of village P in 1997

is 32000, then what will be the

population of village N below

poverty line in that year ?

(A) 14100

(B) 15600

(C) 16500

(D) 17000

Which of the following is the correct

chronology of communication

technologies ?

(A) Still Photography, Computer,
Radio, Internet

(B) Radio, Still Photography,
Computer, Internet

(C) Still Photography, Radio,
Computer, Internet

(D) Radio, Computer, Still

Photography, Internet

23.

24.

AUG - 00115/I—C
M 1 A 1997 A TGN Wt
ArwEEn 12160 38, W Q A TETH
THY dAmge fE ?
(A) 18500
(B) 20500
(€) 22000
(D) 26000
P =11 TETE 1997 At AhaE 32000
ST, T s N A1 Mawd SRRy
T deaen fwd s@a ?
(A) 14100
B 15600
(C) 16500
(D) 17000

. HY9d dATTEiEl Endrerdeht I

HAMHA qra A ?

(A) Teer Srfa, W, eal, 3o
(B) s, Feor TS, W, ST
(C) oo e, Ygel, W, $eTR

(D) fest, W, feem e, 0

[P.T.O.

VYRR




26.

27.

28.

On the basis of structure and
function identify the odd out from
the following :

Facebook, G-mail, MySpace, Orkut,
Linkedin :

{A) Linkedin

(B) G-mail

(C) MySpace

(D) Facebook

In the context of internet what is

the full form of URL ?

(A) User Requested Link

(B) Ultimate Response Location
(C) Unique Request Locator
(D) Universal Resource Locator

Which of the following softwares is
used to process and analyse

quantitative data ?
{A) Quark Express

(B) SPSS

(C) Quant Chrome

(D) SSQN

27.

28.

?__?——_———f

AUG - 00115/1—C

96, T anfut w41 fweR Eeila e

q SR WeH HEEn

HaeF, Si-A, A, e, fhgenm
(A) fomesd

@Gﬁ—ﬁa

(C) "

(D) +EIF

$erieen ewta URL a1 3050 orgeqm
fowmEs s 7

(A) g feewe faw

(B) e freafg sy

(©) g REe A

(D) Ffreede fEE TR

T qeAieR Wiwda FIwarEdl o

IR SHITATEIST TRt IV
RIS IR I ?

(A) T AT
g 9.
(C) ¥ ®H

(D) TH.THFLT

16



29. In the context of computer based
word processing a typeset/fontset
particularly used for Indian
languages including Hindi and
Marathi which can be easily used
across different softwares and

operating systems without the help

AUG - 00115/I—C

29. U SMERIT T8 Wohiar=an Hauld f&e

J TOEEE TR TS ferdoramy

FAfadear ofn wiveamEl araifén

fr=mer 789 wiveds i ‘weedt’

Hrda= TediyE™ & aar I%
YUY EHIAl FE RURE 2

of converter is called as : (A) gfferd
(A) Unitype (B) ¥EI®I=
(B) Indifont (C RIREIES
(C) Unicode (D) st
(D) Ultiform _ . .
30. In the context of computing and 80. az e E @
internet, identify the correct pair STEt et
from the following : (A) &t (TB) — mifedht TOATF THF
(A) TB—Memory Storage Unit ) '
(B) Playstore—Operating system (B) -
(C) Pixel—Colour enhancing (C) Tude — {mads gfawn
facilit :
v (D) ZTEH. (USB) — sideerra
(D) USB—Antivirus
31. Which one of the following is an | 31. WRITUH HIR SHaemey Gl
example of in situ conservation of ST FadaTe ST 3R ?
biological resources ? (A) TTEIE S=M
(A) Botanical Garden (B) Wt M
(B) Zoo
(C) Breeding Cent © =
reeding Centers
(D) National Parks )
[P.T.O.

17
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32.

33.

34.

In which states is Western Ghat is
spread and known for its rich

biodiversity ?

(A) Maharashtra—Rajasthan
(B) Gujarat-Madhya Pradesh.
(C) Karnataka-Telangana

(D) Maharashtra—Karnataka—

Kerala

The solidwaste from hospital is

classified as :

(A) Hazardous
(B) Non-hazardous
(C) Compostable
(D) Combustible

Which of the following pairs of air

pollutant causes acid rain ?

(A) Sulphur dioxide—Carbon
dioxide

(B) Oxides of nitrogen—Carbon
monoxide

(C) Sulphur dioxide-Oxides of
nitrogen

(D) Ammonia—Chlorine

32.

33.

34.

AUG- 00115/1—C

Si9 fafayden g=n srdimge Uiy
U I TEHE oo AR ?

(A) ARSI

(B) TEA—HeETRY

(C) FATZH—qATI

D) TR FAlehH—FD

SARETIATAA F96=] SVl ThHI
TR el 3T ?

(B) aTETdSh

(C) HEa &

(D) ¥ B/

WAt Hiorr o =g Sl gos

s/ W fmio gk ?

(A) FEH TEATFRSH — FHEA SA-
S

(B) 3MFOIEEH oifF ATALISH—FHES
RIS

(C): Tom SRS — sy Hih
RIECICE

-

(D) SMIfaI—FaA

18



35.

36.

37.

38.

Which of the following is a
herbivorous animal ?

(A) Snake

(B) Frog

(C) Deer

(D) Fox

Large number of people have
serious apprehensions about..............
energy.

(A) Fossil fuel

(B) Nuclear

(C) Hydro-electricity

(D) Solar

Which one of the following agencies
regulates Higher Education ?

(A} MHRD

(B) NCTE

(C) UGC

(D) NCERT

Which one of the following is
responsible for professional
development of teacher’s in the
Higher Education ?

(A) SCERT-SITE

(B) NCERT-RIE

(C) UGC-ASC

(D) UGC-DEB

35.

36.

37.

38.

AUG-00115/I—C
WTATTISH! IO WU IMETRRT 3 2
(A) 9™
(B) ¥=®
© =
(D) =iew
TeTATHR] HIVET ThR=AT Sl

IOUTATE 3AF IR §HE HiSd

T ofidt AR ?
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39.

40.

4].

When was the first Open University
established in the world ?

(A) 1969

(B) 1971

(C) 1980

(D) 1857

Which commission mentioned that
“If we exclude spiritual training in
our institution, we would be untrue
to our whole historical
development” ?

(A) Radhakrishnan Commission
(B) Kothari Commission

(C) Dave Commission

(D) Mudaliar Commission
“INFLIBNET” is :

(A) Research Portal

(B) Learning Resource Portal .

{C) Educational Network

(D) Information Library Network

39.

40.

41.

AUG - 00115/I—C
STt Wer T faeadiere v e
Fredt ?
@) 1969
(B) 1971
(C) 1980
(D) 1857
IR T STTTe WEHH sATfoTe
foepTaTeTt ©ite 31, ' ST IO AT
ST el AR 2

(4} TurpsE

(B) ®iSRI 1M

(C) T3 3mEm

(D) Wefear amam
“INFLIBNET” ® :

(A) WM 9 TR

(B) A WYH URe R
(C) dufirs Aeaw MR

(D) =fecdt dae Jeaw o
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42. Which one of the following mission 42, TR FOR AHEE I s
T1EN ?
is related to Higher Education ? e
(A) SSA (A) THIET
(B) RUSA ®) ML
(C) RMSA (C) SMTATET.
(D) EFA (D) 3UHR.U.

43. When choosing a teaching method, | 43. ST WS g wreftertet
which of the following is considered FIoTE T faER vl TS wah
to be the least important ? T o7Hd ?

(A) Nature of the content being (A) Rrfaea ST oA &Y
taught '

(B) SUeTed WUH-|HUT
(B) Available resources

(C) uregwmw SfER
(C) Course objectives

(D) feeneaten smaE-fee
(D) Students’ likes and dislikes

44. GHSR SEEFAEIEA FewH T
44. The best feedback about mis-
.......................... .tha. ﬁ Gﬂa
learning is obtained through : E
(A) diagnostic testing @ UG
(B) summative evaluation (B) R TeFHIa
(C) objective-based testing (C) Shee=ruifia alreo
(D) qualitative evaluation (D) T‘[urra:ra;‘ T I
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45.

46.

47.

The question, “Distinguish between
animal cell and plant cell” is based
1) s WO R objective.

(A) Comprehension

(B} Analysis

(C) Synthesis

(D) Evaluation

Students who can effectively express

their thoughts show....... eeeeeenrn——ra e

intelligence.

(A) Emotional

(B) Linguistic

(C) Inter-personal

(D) Cognitive

The factors which most affect the

quality of teaching are :

(A) learner’s abilities, teacher’s
communication skill's, teaching
method

(B) teaching method, teacher’s

communication skills, teacher’s

training

(C) teacher’s salary, teacher’s

personality, teacher’s training

(D) classroom environment, use of
audio-visual aids, learners’

intelligence

45.

46.

47.

AUG - 00115/I—C

“roft iferER o IFET RIS AR
WWW}” 5| g
o1 fgerer snafa o

(A) T
® fazer™
(C) H¥Sl

(D) HeTHa+
o1 faeneafn et faam qwrEiIo SR

(A) wEfTw

@) s

(C) MR-

(D) s

STt s gRoms e ?

(A) SvaaTacien wmar, frarsrl
FEw FO, FEAEE TS

(B) st g, fawr W
Froed, fogea i

(C) Torerran TR, fare SAferH,
fosema wiygw

(D) W,ﬁ-mmmam,
SRl g
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48.

49.

50.

The most important purpose of home

assignment is to :

(A) keep students well engaged

(B) instill habit of hard work in the
students

(C) provide feedback to the teacher
regarding students’ learning

(D) help in better retention of
content

Doing research involves these

steps : (1) stating research objectives

and hypothesis; (2) Methodology;

(3) Identification of research

problem; (4) Collection and analysis

of data; (5) Statement of results and

discussion.

Identify their correct sequence :

(A) 15253545

(B) 45153525

(C) 3515245

(D) 25155534

The bibliography of a research

report :

(A) lists all the books published on
the topic

(B) lends credibility to the report
and serves as a guide for further
research

(C) includes
references listed in 1t

summaries of

(D) is always written in the format
prescribed by the American

Psychological Association

49.

50.

AUG - 00115/1—C

(A) Torenmeafa =iren R a3

(B) Tarneafan F SwvaT waa el

(C) Tnwsm famnei=ar eagAEEd
TR ]W

(D) wreEmn =GR oA W
CIul

Heiea wear (1) Gl 3R 49

FATifies TEa; (2) TEfaenE; (3)

Hoiem T SeE; (4) et

TR /AT et farsysor H;

(5) Wi ==fems fa=m =1,

1 ST IUEE Sell SEn. @l 3y

H idl

(A) 1525345

(B) 451535255

(©) 3-1-52—4-5

D) 2—51-5—3—4

@ SeeA g wed

(A) WS e faeEer e wd
TR ARt el e

(B) SEHATS =N STEeT for AT
W e a9E e weieArEdt
Artee B

(C) g JTS TAF TWEHH W
feoren orea

(D) areHa faem wH AT
grasiaifasa s@mifeeEs
S UGHTaRe $a W
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51.

52.

53.

54.

No hypothesis can be stated in........
terms. '

(A) directional

(B) declarative

(C) null and interrogative

(D) general

The F-test :

(A) is basically one-sided
(B)

is basically two-sided

(C) can be either, depending on the

hypothesis
(D)

can never be two-sided
Experimental research can be :

(A) easily generalized

(B) easily analyzed
(C)

(D)

easily planned
precisely controlled

The quality of a research journal is

indicated by its............... X
(A) h-index
(B) g-index
(C) 1/o score

(D) impact factor

51.

52.

AUG - 00115/1—C

e S
Aied 34 R

A) feomests

(B) STNYITCHS

(C) ¥ anfn yvmAs

© @

F-=raof

(A) T&H: Th ¥ I

(B) qeTa: fgya emd

Q© T T e e et
(D) foyq= w¥= T8

(A) h-index
(B) g-index
(C) 1/o score

fﬁ) impact factor
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Answer question Nos. 55 to 60
based on either the English

passage or the Marathi passage:

Parents have to develop the habit
of thinking in terms of ‘we’, not
‘me’. Think about the whole family.
Some conventional, orthodox men
feel they are the heads of the
families. So it’s their right to get
all the advantages, privileges etc.
Similarly some modern women
think that ‘Gone are the days. Now
we are working and earning by
shoulder to shoulder to men. Hence
the women should get the equal or
sometimes even more advantages
and privileges’. Both such types of
parents do not have ‘we’-feeling.
Family-oriented men and women
would think of the whole family as

a unit, the advantages as well as

AUG - 00115/1—C
U %, 55 1 60 ¥ Y fewear sararer
arentft@ oTed. susidra fewar
TS SATaTaie gyEEr S

3 |

TR STeaEsh SfEe FaeTer
g TSI YN TSEUErEl WA hefl. Al
geufa Hee Wi foer ®en o T
TR: AU E agn s . qur =
ggE wEE TRIiEE wegEten
Wi Fafeqa @ 3 Sgae Hied
qU T g TS fafedt T o
T ARG T T AR & WS
i e b—cﬁﬁﬁ.aﬁmﬁﬁ
ST 'E A FTOe WOt
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troubles of each and every

individual member in the family.
Thus in

relationship—between spouses,

any interpersonal
between parents and children, and
between children—the thinking
should be of ‘win-win’ type. The
habit-formation should start from
parents. Naturally the children will
receive and absorb the same

method of behaving.

When we listen with the intent to
understand others, we begin true
communication and relationship
building. Generally parents go on
ordering, dictating, coercing the
child without listening to him/her.
Hence there is no two-way
communication between parents
and children. One-way ordering and
the other-way obeying or
disobeying is generally observed in
the society. Even in parent-child
relationship, it’s better if parents
first listen to children, observe their
expressions, behaviour. Here they

try to understand the child. Now

AUG - 00115/1—C
s, fafay Sh-wern 9 SR
TS G0 9 Sgh ofE. 9O AR A
fseregasid o AeRed Al e
qIEEE AMS RuEE cwH,
TASTE Henied FHgdl, SR —
i fafay Tgg], SoARe dervarH!
T 9 g - @R &, WA
redarea 3o Goael AieaeBrIgd
afgspd el SAG— oI FHEG -
Tfee e SR hal. a1 ARl
foafa s aAfor Sl e Sfa wH
FQ. @S add 7S Aifecaren
arafifoq srEun=ar erveTeAl K-
FLOTAA TR HAT FA. A
SEVERT AT S YT T, Sefie
RS VGBI HE FH e,
TEfaaTRe 3 a9, aRaare =0
s TS gEhel. TrsiaTe HeY
fie 7O WY el FIOTER
e fefear ScHfava aREl, 3
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55.

56.

it’s likely that their reaction would
be in line with the child’s ability

and expectation. In fact, parents

have to remember that Success

definitely deserves a hug, but
Failure needs an even tighter

embrace.

Some conventional men think

that :

(A) they must take all the decisions
in the family

(B) women should get equal

advantages and privileges

(C) they must have all the

conveniences and advantages

in the family

(D) everyone in the family must

| obey them

Thinking in terms of ‘we’ means

thinking about :

(A) the family

(B) the nation

(C) both men and women

(D) the society

55.

56.

AUG - 00115/I—C
iR SAIERr TR el N AaIEord
FUTTs WA A frdw
ATHYATEA a1 AQETS SHSN
st fowfaen. & orms efsr Avt
FayETEAE U el .
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(A) TS

(B) Sfra=

{©) =wm

(D) wayH

R Ay SO TS WO S
HHSEA g S
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57. Which of the following statements
is true ?
(A) Orthodox men have ‘we’-feeling
(B) Children learn methods of
behaviour from their parents
(C) Parents and children must have
a friendly relationship
(D) The habit formation in the
family should start from grand-
parents
58. True
relationship building begin with :

communication and

(A) ordering and dictating
(B) ordering and obeying
(C) expecting and speaking
(D) listening and understanding
59. If parents try to understand the
child, their reactions will be in
consonance with the child’s :
(A) behaviour
(B) achievements
(C) abilities
(D) ambitions
60. The most appropriate title for the
passage is :
(A) The parent-child relationship
and the family
(B) The compulsions of family life
(C) True relationship building
(D) Success and failure in the
family

AUG - 001151—C

57. SeUHTTR AEHAA AfqeEl w1 F
g ?
(A) R e A HACIHS
(B) e TETAEl FTE G

T

(C) TS e Sglh FHeaS
(D) AIETTER 7 e

58, =fem, T EFHl FIUQ HEETE B
Fa ?
(A) S A e R hd
(B) fofem w9 wed w1 d
(C) WY WE AR
D) = e YRS HIEAA

(A) goid SR, IWY TH
(B) Tatd =@, 90 TR
(¢ dyof faum =slsw
(D) o faum <%
60. T A=A A FHUS Tt HOM ?
{a) sremed waE
(B) ren swifor St
(C) sfem wfeeama wew
(D) T Wi 9T
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